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2. B 920uL TAFWAT 100pL BEAZE ImL fHYELb B, 841, SZEIES: 340nm Ab 20s FIWOGIE Al AT 80s
B HIROGIE A2, 5 AA=A2-Al

ZEEE A SEHHE:
FRESAE T I E BB 5 FE 9 y = 1640x + 0.012; x AMOGIE, v SbRESIE (nmol/mL).
FE: AT SRS 1.6nmol/mL.
(1) MR AR
A A 2 & (nmol/mg prot)=[(1640xAA+0.012) xV1]+(V1xCpr)=(1640xAA+0.012) +Cpr
HE SN E, BB A A R BCA B A& =il e il F &
(2) AR
Z NG A &R (nmol/g B EE)=[(1640xAA+0.012) xV1]+(WxV1+V2)=(1640xAA+0.012) =W
(3) F4 B2 R A P 5 E T 5
LB A 75 5 (nmol/109)=[(1640xAA +0.012)xV1]+(500xV 1+V2)=(1640xAA +0.012)+500
V1 IINSBAE R PFEARARL, 0.0mL; V2: IIARBURAR, 1mL; Cpr: FEARHABRKE, mg/mL;
W: FEARFIE, g: 500: ZNHIsRANEE %L 500 J5.
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